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1 Introduction
In [1], OTA sensitivity requirement is specified with vender declared EIS values. In RAN4#76bis meeting, WF [2] on the declared EIS value was agreed. In the agreed WF, there are three options how to define the criterion on the declared EIS value. This contribution discusses which option is suitable for defining equivalent specification to non-AAS BSs and comparing the capabilities of AAS BSs with each other, and proposes the criterion of the declared EIS value.

2 Discussions
In [2], following WF was agreed;
====start of reference====
· In RAN4#77, RAN4 decides either three options below on declared EIS value:
1. Define the relationship between EIS value and REFSENS
2. Define the minimum declared EIS vale
3. Not define the any criterion on declared EIS value. Vender also declare the reason why the EIS value declared.
· In RAN4#77, companies submit contributions their views of which option above should be applied.
====end of reference====
In the next sub-section, we discuss pros and cons of each option.
NOTE: there is typo in option 2, “minimum” should be “maximum”.

2.1 Pros and cons of three options
In table 1, we summarize the pros and cons of each option.

Table 1 Summary of three options’ pros and cons from technical point of view
	
	Pros
	Cons

	Option 1

(Define the relationship between EIS value and REFSENS)
	· Can compare the OTA sensitivity capabilities of AAS BSs with each other 

· Can evaluate under the similar condition with conducted sensitivity
	· Need agreement of how to relate EIS value with REFSENS

	Option 2

(Define the maximum declared EIS value as minimum requirement)
	· Can define the limit of declared EIS
(can exclude too large EIS value)
	· Cannot compare the OTA sensitivity capabilities of AAS BSs with each other

	Option 3

(Not define any criterion on declared EIS value. Vender also declares the reason why the EIS value is declared.)
	
	· Cannot compare the OTA sensitivity capabilities of AAS BSs with each other


2.2 Previous proposal based on the option 1 in [3]
From Observation1-1 to 3-2, we know that option 2 or option 3 is insufficient as a standard specification from the technical point of view. On the other hand, we need to define the relationship between EIS and REFSENS to specify the option 1.
In the RAN4#76bis meeting, we proposed the relationship between REFSENS and EIS in [3] as below.

====start of reference====

EIS = REFSENS - min(G_Rx(, ))



(A’)



NOTE: G_Rx(, ) denotes receiver antenna gain at the beam centre as a function of  and .
====end of reference====
However the original proposal above in [3] was noted, and we received some comments from companies in on-line and off-line. It was not agreed that venders declare the receiver antenna gain at the beam centre as a mandatory. Thus above equation (A’) will have meaningless unless we define the new declaration for receiver antenna gain at the beam centre.
2.3 Proposal
After above discussion, we reconsider the criterion based on option 2(and option 1). We propose as a mandatory that the declared EIS values should be less than REFSENS for conducted sensitivity requirement. It means min(G_Rx(, )) is assumed to be equal or larger than 0 in the equation (A’). And as an optional, we propose that vender can declare the EIS values which is REFSENS minus min(G_Rx(, )).
Following criterions of declared EIS value are proposed:
Proposal 1: Vender should declare the EIS values equal or less than REFSENS for conducted sensitivity requirement as a mandatory.




EIS <= REFSENS







(1)
Proposal 2: Vender can declare the EIS values which is REFSENS minus receiver antenna gain at the beam centre (min(G_Rx(, ))) as a optional.




EIS = REFSENS - min(G_Rx(, ))


(2)

Proposal 3: If proposal 2 and 3 are agreed in RAN4, TP [4] for TS37.105 on this topic should also be approved.
3 Conclusion
This contribution discusses how to define the criterion of declared EIS value based on the agreed WF and proposes the relationship between the EIS value and REFSENS. Followings are proposed.

Proposal 1: Vender should declare the EIS values equal or less than REFSENS for conducted sensitivity requirement as a mandatory.




EIS <= REFSENS







(1)
Proposal 2: Vender can declare the EIS values which is REFSENS minus receiver antenna gain at the beam centre (min(G_Rx(, ))) as a optional.




EIS = REFSENS - min(G_Rx(, ))


(2)

Proposal 3: If proposal 2 and 3 are agreed in RAN4, TP [4] for TS37.105 on this topic should also be approved.
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